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Note : Before answering the questions, read carefully the instructions given on the
OMR sheet. . J
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1 The cardinal number of set 4={1,2,4} is

A={1.2.4] &3 3288 2055 vong
(1) 1 (2) 4 (3) 2 (4) 3

. : _ ) .
2  The zeroes of quadratic polynomial x~—2x—8 1Is

X~ —2x—8 58 5B ArIgen
(LY 4, =2 (2) 2, 8 3) 1,2 4) 1. -8

3 The HCF of 96 uud 72

06 ooty 72 © A.rS dewd .
(1) 96 o) 12 Py (3) 24 (4) None (98 s*&)
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The value of log, e

Iu’gE\/E DenD
, 1
(1) 0 2) 1 (3) e (4) 5
log ,axlog, y=
(1) log,y (2) log,a 3) log, x (4) log,a
If A={1.2,3,4,5} and B={4.5.6} then AN B.
A={1.2,3,4.5} ®oat B={4.5.6} awss AN B &g dend
(1) A (2) B (3) {4.5} 4) {1,2.3}

If the angle of elevation of the sun is 60° then the ratio of the height of a tree with
its shadow 1is

1) 1 2) 1:43 (331 -~ (4) None of these
28 Béw gD Za &g §°0 60° e Land & Béd BB & Ao, PEHe R

(1 11 @ 3T GuBi @) e
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Il one card is drawn from a pack. then the probability f getting a k
s S w08 5'55"@&1 -?ﬁ&:lﬂ'n? 0 orer 5°H oL Hoor ol

il}L (zl 3-1
12 TR )

12 Trom the definition of Probability P(E) identify correct statement.
"maﬁaﬁgé 25760 OGN dargeo NdoNod.
() PlE)=—1 2) 0<P(E)<1  (3) P(E)21 (4) None (98 sch)

13 The probability of getting 33 Fridays in a leap year is
2
?
28 D) HoDEYB0S* 53 H(Saruren Torie HoarDgd

1 3 |
(1) (2) = ©) = (4) None of these

g‘ 21 . 3i 4) 26
bz @7 G) (4) 56 e

14 A bag contains 12 pencils, 3 sharpeners and 7 pens, then the probability of drawing
a pencil from the bag is
12 29)g0, 3 8o woam 7 Wnjen fo Kods® wod af BSH Waesh B e HoeTHgS

(D 7 | 2 T ) - Qs

15  For what value of 'a' 4. 6, a, 9, 10, 19 will 7.5 be the median ?

@y D B 4, 6, a9, 10, 19 o wegrdo 7.5 |
16 ) 10 3) 7 ) 8
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- (3) 70 (4) 700

19 Which of the following is not a measure of central tendency ?

. (1) Mean (2) Median (3) Range (4) Mode
&3 (808 2°dS° So|s 0 Jeod 50
(1) e (2) wagnso  © (3) wrgd (4) ersoeso
20 If x> —3x2+4x+k is exactly divisible by x—2 then k—
x> =35> +4x+k D x—2 pdydorr erAodd | =
(1) 4 (2) —4 (3) 0 (4) 1
2 :
21 Solution of :+E-= 13 and E—iz—z
X ¥ X )
2 53 5 4
=t==l3 Seaty =72 & dEs
X , 20V

i
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. yst m gfequatren 2x+3y '? and (ﬂ+b)x has'ing
utions then =

aﬁﬁb:&ﬁmven 2x+3y =7 %ot (a+b)x+(2a--b)y =21 ea&:
WRG=56=~1 (2) a=55b=] (3) a=-1,b=5

i

24 If the system of equation 3x -2y —7=( and 6x+ky+11=0 has unique solution on then
238 DD EGeTen 3y — 2y=7=0 8ot 6x+ky+11=0 o% JSE FESH God
(1) k=4 (2) k=4 (3) k=-4 (4) k#-4

25  tan85° tan65° tan45° tan 25° tan 50 =
e @ 4 2) 0 @)= (4) None of these
tan 85° tan 65° tan45° tan 25° tan 5° =

(1) 1 (2) 0 (3) - (4) Bes

26 If sinl8° =cosx then x=?2

sin18° =cosx eand X Jens Jos?
(L) 732 (2) 37° . (3) 7120

[

27 J(secﬁ-— 1)(secO+1) =
~)

(1) secd N@)tan0i 73y sin@ .- ),
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cos0+bsind = p; asmﬁ beosB=q eows & (806 86 95 ¢

(1) a®+b%=p? +q> 2) a*+b*=p*—¢q
@) a*-b*=p’+q® @) a*-b2=p?—¢*
30 If tan{r._-;-, talnlfi:l then (ot +B)=

3 )
I |
tanfx:E, tﬂ“[3=‘§ AN (u;+[3)=
(1) 30° (2) 60° (3) 450 4) 0°
31 The solution of 99x+101y =499 and 101x+99y =501 is
99x +101y =499 ©6am 101x+99y =501 o e

(1) (-3, -2) 2) 6 =2) (3) (E2:3) 4 G.2) ;
32 The line x=5y passes through i

=16 B wenmernas oo Fevod

) (1, 1) 2) (2.3) (3) (0, 0) @ (1, 3)

33 Roots of x2+6x+5=0 are

¥ +6x+5=0 awy frere
M 15 @) -1, 3y -1l L
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h%*xﬁ —0 @ws deed
.,(1__.). 60 2) 12 (3) 36
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36 _‘.xiz+"?x+12=' | |
() (x+3)(x=4) @) (x+3)(x+4) 3) (x-3)(x=1) (4) None (36 =)

37 If (P.2).(-3.4) and (7.-1) are collinear, then p =
(P 2),(—314)_ Doax (7,~1) e SBDarDS ' P! EnE) dend
({13 -= - @0 (3) -2 (4) 1

38 Centroid of a triangle divides cach median in the ratio :

HEEQ Solstw Digrerd) desBoy K

@2 : (2 B3) 1 3 4) 3:1
39 Slope of the line joining the points (4.—8). (5.-2)

(4,—3), (5,—2) DocuHod E0 0 AnE) e

I
i = (2) -6 (3) 6 ) __%

40 If two triangles are similar such that ratio of their areas is 25 : 361, then find he ratio
of their corresponding medians 41
Todh) Xird (Babere Jwerge &QB 25 : 361 eond o8 osrar &ﬁgﬁﬁ'@w

ﬂ) 10 20 (2) S (3) 20: 19 4) 18795




@) -3 2) 31 3) 27 (4) =35
44 Which term of the A.P. - 20, ULRIES 1s =30 ?

21, 18, 15, ....... 008 BBE* ~30 Xy siw? 2

(1) 16 . @ 18 (3) 17 (4) 19

45 In AP, sum of n terms, =

©o¥ B3S* S, =
"
) > [2a+(n-1)a] g 2 -g—[a+(n—l)d:|
”2 - '
3) —[2a+(n-1)d] (4) None (98 s)
46 If a,b,c are in GP, then §=
T AN T
a,0,C e (L. ﬁg}l'b"

b C b
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ircle with a given tar
aalwm &oﬁdﬁﬂ -
fl‘-) (3) 4

- In the figure, area of the segment PAQ is sq. units.
D 20owe® PAQ ang Brogin . Qe ‘

a 2 2

s ._
W) w2 @ m-2) @) Hx-))

In the above figure if PT = 6 cm, PA = 3 cm then AB equals to
D d0awd® PT = 6 cm ©oo PA = 3 cm wand AB dens

M.Z-cm 2) 9 cm (3) 5 em © (4) 6cm
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54

55

(1) double (2) three times (3) four times (4) No change

S T
- o o N - . By? (1 S e DL _ans e g
’ . x N L ol iR o . B
55 T il T . lﬂ}ﬂ'ﬁh ’ . :|| — -11‘“..‘1?:.‘:’1_:.;. .qull D My
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A-'Le:-ﬂ"‘ cm {23 8em @‘f 6 cm N

“Total surface area of a hemisphere is

o8 o By Jogrdde Jgrego

(1) 2ns2 @) 3mr> @) 4m 2 @) nr

If the radius of base of a cylinder is doubled and the height remains unchanged. ther
its curved surface area is '

&8 Qoo Qg TrgRromd) Bedop) BN, d A HrH Do &oB avd HEse Eﬂ‘ﬂgﬂé‘ DS
(1) 23w (2) 3 B&w (3) 4 Bew (4) #r&) oved

= 3

[f a right-angled triangle is revolved about its hypotenuse then it will form a

(1) Sphere (2)” Cube (3) Cone (4) Cylinder
&8 o & [Baberd) o°d o Horr [P B 6D wsedin

(1) Foo (2) s (3) dowd (4) grassn

In an isosceles triangle ABC with AC=BC if AB* =2AC? then £C

ABC & 25 8 Bgariny (Badeind® AC=BC $0a%0 AB* =24C* wond £C
(1) 300 (2) 90° (3) 45° - (4) 600



(4) None (96 s°®) ,

57 In AABC the sides are 6, 10 and 8 then A ABC is g
(1) Right-angled triangle (2) Acute angled triangle
(3) Obtuse angled triangle (4) None
6. 10, 8 20.%. Soden themenm &%) AABC o8 Bgbesin o
(1) oocwss (Bebeso ' . - (2) voFe |@zbeo
(3) @68 & @abeo - (4) 98 =

58 From the given figure valﬁe of op is

59

60

(808 i wod Op M) Ro.d.en )6
(1) 3 (2) 4 (3) B i

B
The angle between a tangent to a circle and the radius at the point of contact s

2.8 H)Bo g o°I8 & 0)6709% 936) Dok 5 Swo e
(1) 60° (2) 30° (3) 450 (4) 900

If two circles touch each other internally, then how many common tangents can be

drawn ? |
Both Hysren woddorr 138)0BHH)HPE Aothe &)@ J)6 0w Vowg
(1) s @ 4 3) 0 @ |
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| 3 5
3 #1- .—.-_

250 80 }'ﬂ?ﬁlgﬁls #&E‘Snl mmmmmmme .": 7).
(2) sosD

(4) g8 dberex

The angle of incidence at which a light ray does not undergo refraction
D D% oty 5 5708 oty B BoseH? '

(1) 00 (2)"80° (3) 45° | (4) 90°

The distance between the eye lens and the retina for healthy eye

6B igH0dd @), §)&° SLs I8, BETH Wy Kirdo

(1) <2.5cm (2) >2.5¢m (3) =2.5cm (4) None (98 s)
Hypermetropia can be corrected using lens.

(1) Concave (2) Convex (3) Bifocal (4) None
EPEEYRR ====mmee E0E50 8 HBBOHDHBND.

_(I) s (2) Hoegrsed (3) ag wegoss - (4) 28 s

How many times does the light ray refracts when it passes through a prism ?
a8 508 86dn &ﬁzéu tom [HaXreoRd P ) 58555 DohErod?
(1) (2) 2 3) 3 (4) 4
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68

69

(4) I8 sy

The mirror used by a dentist is .
(1) Convex (2) Plane (3) Concave (4) None 5
: ' « K

G0 Beth dHAPACK 5890 J -
(1) Honrsy (2) swée (3) derss (%) :"5'“'&’ .

-y m
Diminished unage is formed with a concave mirror when the object is placad ”
(2) at centre of curvature

(1) at focus
(4) beyond centre of curvature

(3) between pole and focus
QLTSS S6)W0S° VHBS [HBDowo Forerod ) I EEEEEEES e 3 B0

(1) =8 %¢ (2) 8o So|sdm 5

{'_3) G bathy rde ey (4) HEe Sotdn wde - S

A straight line passes through the centre of curvature and pole of the convex mirror

1s called
(1) Parallel axis (2) Perpendicular axis

(3) Principal axis (4) None
$0grs*6 S8 i Bsy H)8 Bolin WO G)me areoe ek s
(2) eowrgin

(4) 58 oo

(1) Shross egin
(3) [Heed oghn




‘The reason for rainbow is
(3) Total Internal Reflection (4) All the above

O SR QB S*EEadn.

(1) HZSes5%am0 (2) e
(3) DoProross HorHsH . . 4) Eﬁﬁl'

72 If more water molecules are present in the atmosphere the sky lnnk.s -
(1) Blue (2) Red (3) White (4) Black
e SSe0S® DE3 BEnHen Y BT GV) S T Sorh&® g;’a@a&. -
(1) deo (2) WD (3) Bew® (4) s

73 The cause for the movement of electrons in orderly motion inside a conductor is due

1o :
(1) Resistance (2) Battery 3) Lattice

mg@ BES 50ads B SPE8?

(4) Positive ions

NN JEJE'“j‘n'}JEu

(1) dB°csem (2) erged (3) oS (4) &b wotrde
74 The S.I. unit of electric current 1S
(1) Coulomb (2) Ampere (3) Volt (4) Ohm

DesgS (i BEY S.1. (Sxureea

(1) Srenod (2) ©odanb - (3) & 4) &
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(1) 20 )40 . B e
{ _
Within the solenoid magnetic lines of forces..........

(1) Pass from South pole to North pole
(2) Pass.fmm North Pole to South Pole
(3) North to South and South to North
(4) Does not pﬁss- |

ﬂ‘@aﬁﬁns SCHe @uﬁ#&cé amﬁa)tn

(1) &8 Sydo wod G806 ¢y B @iron.
(2) 6865 &y0 0B B8 Syb0 B [EEirdran.
(3) G860 208 8D WBAK $&00 0B &SI

(4) esdden (DHAPOIY).

When a current passes through a straight conductor, magnetic field surrnundmg conducm

will be
(1) straight lines  (2) parabola (3) closed circles

(1) s (2) sorsoato (3) %088 soatres

Applying Kirchoff current law to Junction 'C' the valué : oy,

(4) hyperbola
28 85)D Trdrsn (Hoar AHGE (BPRODPE, TP Sodwr 6B ©anI) 08 B
(4) ©8 sovsoa

-
R |
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2% i . . T § . '". I
The image of an object placed at infinity before a convex lens 1S fmmf .

b’ “*&l%ﬂs | (2) at centre of curvature

(3) at infinity (4) None of the above

0578 SLEAD D08 wHod Erood® dodd Ky BnE) HADowH) K G D6 80067
(1) wo2g (2) siger oo 38

(3) wdos drdost 4) 380 =%

The power of a lens is
o8 B FHEH

] - 100 ' 100
(1) D=—t Q) D= @) p=—8 4) Di=—
cm cm em Im

Which of the following is correct equation ?

&1 1Bod 36" HODH b Eeow

. (A+D . A=D
sm( 5 ) . | [sm > )
(1) n=— (2) m=e———
sm% SIHA
Sin[A-;DJ sinA_D
e 2
CHIEE= D @oi=rrel
Sl — | SIIIA
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33 In electric motor. citrent direction in coil is changed by =

84

85

(2) dwo slip mﬁﬂ :

(1) Two magnets

(3) One Brush one Slip ring ' (4) None

DE58 TreBS® 8i ey hoae (B8R0 Agh BED “rTYd

(1) Both wanade) osren - (2) Bodk 25 dohen
(3) o8 @8 a8 35 8ok (4) 96 s

When a current carrying straight conductor of length 2 m, moves perpendicnlﬁ?_@
magnetic induction field strength of 2 Tesla with velocity 10 m/s, find e.m.f. induced

in vollis.

2M T o e (DD 28 89D Tarsw 2 B ©aH) 08 B8 SHSH ecuonT o
L0 'S 508 Schends), (@08 gm0l wedn ) deven?
(1) 4000 (2) 1000 (3) 400 (4) 40

i

Security Checking Alarm works on which principle ?
(1) Newton (2) Lenz

(3) Electromagnetic induction (4) Ohm
fz .

o) ar(go™ e dHG %Jérgﬂéf BE verddin O ﬁ:@u&?

(1) &rgesd () B0

(3) dhgEonary.08 (B . 4) &5




. oSt 65 Dowiard) Sosnr?
I w (2) oA (3) addw

88 Current always prefers to pass through

(1) Low resistance | (2) High resistance
;(3_} ‘High (or) low resistance - (4) None |
B PG hoar FHards aHd&00?

(1) 8%p6 D6 | (2) S IS

(3) Q0 Boe $&y.H V&° (4) 26 =

89 A wire having 10 ohm resistance cut into four parts each {}f equal length. The resistanc
of each part of wire is ohm. |

10 45 26°680 o o8 B Teurd i PEHeor $8B0DS, a5 &) erdidn By I Ean-

(1) 40 (2) 14 (3) 2.5 @0

90 10 resistors each having 100 ohm resistance are connected in parallel. Find equi
resistance in ohm. :

28% 8 100 &De B¢ Jewd o 10 Mferod Hhroddornr LS, HO&E DB 8= emmem
(1) 1000 (2) 110 (3) 100 (4) 10

y
— e —

e o o c— B —— —— - L R LT
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93 In a Dobereiner's riad, the atomic weight of first and third elements are '7 and '39'
respectively. What is the atomic weight of middle element ?

&S @r20%6 (B5506° Ty ees WrOEO DB QKD Are 80 SEEPED 2PTRe 5K 7' »8ax '39,
WEe Dredo QAE BP0 Jo?

(1) 14 2) 20° - (3) 23 (4) 46

94  Which of the following is called as ‘electron deficient mnlecule"'?

LEG& T¢3S° BAD JOSIS B @) wodrd)?

(1) BF, (2) CH, (3) H,0 (4) NH,
95  Quick lime + water' — 5 vy

The chemical formula of the product 'X' is

T8 o+ db — 51y

Botbasgo X1 @ngy Gans odsgo (chyer)

(1) CaCl, (2) CaO (3) Ca(OH), (4) CaCOy
'-—'—"—-——--__ — |

GIA LT AT Ty v
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98

99

100

4

below equation, the values of 'x' and 'y" are :

1k

|
(806 BEB00S* X' o 'y EnE) dewden :

C-__;'Hg +1X'01 —-)'};ICOE S 4H2'U

(1) 5,6 (2)15; 3 3) 3,5 (4) 6.5
Which one of the following is not a base ?

|80b T=3S° T 570

(1) HCOOH (2) NaOH (3) KOH (4) Mg(OH),
When a metal carbonate reacts with acid. the products are

(1) Salt + H3O" (2) Salt + H,0+CO;

(3) Salt + H (4) Salt + H,O+H,

S 5By whrod SEgFodRY® D8BD

(1) oo+ H30" (2) eteo + HyO+CO,
(3) oswo + Hj (4) o%wo + HyO+H,
Covalent bond is absent In

B0 396" BrEran wogo B vmY?
(1) H,0 (2) HCI (3) Na,0 (4) NH,
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~ The bond angle in BeCly molecule is & :

?EcClz S0t 206 o . P

(1) 109° 28 2) 1200 (3) 1800 (4) 104031"
103 An example for polar covalent bond s

PIT & So@resdan 0md8 & o

(1) H-H (2) H-CI @) €l-¢l (4), E-E

104 Which one of the following is correct statement in case of covalent compounds ?
(1) These are crystalline solids

(2) These are soluble in non-polar solvents
(3) Their reactions are very fast

(4) They have high m.p. and b.p. L
WA ) Pire HKanod® (806 a6t 9o HOT6?

(1) = D)EE & o O gren (2) 2d 0&yd (orsmros® “hiharon.

(3) e wdgen o8 forr exthrharan. (4) 38 |5Desss, a:*ﬁ.};jgﬁa’:é T ) D,

105 Froth floatation method is used for

(1) Reduction of metal oxide

(2) Concentration of ore
(3) Extraction of metal

(4) Purification of metal

B (DS BIB &HAPAYE?

(1) &°% «3)8 ganssemo (2) ord Fodgsmo . ‘
(3) &% do|ssremo (4) &% 68

106 On mixing with water, plaster of paris turns into
QeSS SO PR FH6 &b 365 B SreheHoa?

() CuSO,, SH,0  (2) CaSO,, 2H,0 (3) Cuso, (4) Cas0,, %Hz@ .

AT d ANy e e T
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u’ es for the electron in '2p' subshell are
2p' &880 > 6% dogeyS S8y 'n' Doam " Devsen |
(1) n=2, =0 P)n=11=0 @) n=21=1 @)1=

109 Which element has the electronic configuration 1s” 2s2 2p% 3s2 3p3 Wk

JOF9S g0 157 252 2p6 352 3p5 m a0l frerko 962

| 3 ' 134 )
(1) Si (2) S (3) P (4) ClI | |
110 The maximum number of electrons in a subshell is given by
28 986)608° 408 (6% Joseove Ko BODHA
(1), 2(2+1) (2) 2/+1 (3) n+/ 4) 2n2
111

The Ionization energy of Beryllium is more than that of Boron, bééause Beryllium has-
(1) more nuclear charge

(2) less screening effect
(3) more penetration power of '2s' than "2p'

(4) more atomic radius

D00 LaHESH 48 505 K08 Iy H. JothEsm DEOAE SIEYS
(1) %76 Soiess wSio

(2) 875 % 990F 0 |
(3) “28' 80)OSSH 2p' $rry p}é:a.b TEE b K}SQF::O i

(4) 2026 Sdren g 80
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rocess fﬂi‘ conversion of starches and sugﬂ'ﬁ o m‘* *h?m hol is called as

=

(2) Saponification
(4) FBrmentattﬂn

“('3% De}:lyﬂranﬂn

M dargren HBA W) oD 3PS s S &5 @8an B
(1) XBsse (2) *PRELS
(3) &-@sS (4) Beg (8
114 Which of the following is not a conductor of electricity ?
(1) Nanotubes  (2) Graphene (3) Diamond (4) Graphite
S5 (800 &IS° ASogar g rEdn 5206
(1) > argeven  (2) (25 (3) Heo (4) S
115 Aluminium is extracted from which of the following ores ?
(1) Haematite (2) Bauxite (3) Cinnabar (4) Lime stone
1808 od° D6 ®ewreIaHo Q3 Gea &)y GOArA0T P G eD)?
(1) o8& (2) 28y (3) ddyere (4) dHHorow

116 Which of the following methods is used for the purification of metal ?

(1) Magnetic separation (2) Roasting
(3) Calcination (4) Poling
Bod 36" &' H08 T D38 D67

(1) ®abary o8 Bovyen 58 (2) s
(3) ety Somin (4) 8ok

117 Number of unhybridized p orbitals around each carbon in C,H, molecule is
CoHy omd 26)850pd 5°6)S Soth 50858800 Bosd P e yere:
(1) 0 @)l - (3) 2 (4) 3
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119 ﬁe formula of Chloroform is AR

(1) CHCI _(2) CH,Cl, 3) cHCl, @ €Cly

e following is a Saturated Hydrocarbon ?

120 Which of th
(2) Propene (3) Propyne

(1) Cyclopropene

808 eSS 2B J0SR, | S°E)N?

(1) 28 @S (2) @S (3) @ (4) @9 S
- _

#—

AN O0JVED ‘éma‘m

(4) Propane
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